Virginia High School League

Scholastic Bowl, 2000-01 season

State Competition, Match #1


These questions have been written for use by the Virginia High School League’s Scholastic Bowl competition at the State level by Shawn Pickrell. These questions are to be used by the Virginia High School League to conduct their Scholastic Bowl competition under the following conditions, which must be known by all coaches, competitors and spectators of the competition.
(a) Release of these questions to any entity not affiliated with the Statecompetition or the schools that are members of the given State before all State champions have been announced is prohibited. This is meant to keep question security.

(b) Competitors may not discuss or otherwise reference these questions with other entities in the Commonwealth of Virginia that are associated in any way with the Scholastic Bowl competition before all State champions have been determined. This is also meant to keep question security.

(c) After that, these questions may be freely released to entities within the Commonwealth of Virginia. These questions may also be discussed or otherwise referenced between entities within the Commonwealth of Virginia. This is meant to allow the proliferation of these questions so that all schools in the Commonwealth of Virginia may have practice material for future Scholastic Bowl competitions, and therefore this practice is encouraged.

(d) These questions may not be released AT ANY TIME to entities outside the Commonwealth of Virginia, except with prior approval of Shawn Pickrell. Discussion of these questions, however, is permitted between entities within and without the Commonwealth of Virginia This will apply to ANY entity in the Commonwealth of Virginia that receives these questions, be it directly from Shawn Pickrell or indirectly through various means.

First period: 15 toss-ups
1.
THIS IS A COMPUTATION QUESTION. Express your answer in the form A + B PI. How much string is required to make a circle which is 12 inches in radius and is divided into five equal portions from the radius?

ANSWER: 60 PLUS 24 PI (there are five radii and the circumference that must be drawn)

2.
This muscle’s spasming causes hiccups. What is this muscle located in the middle of the body, which assists the lungs in expanding and contracting?

ANSWER: DIAPHRAGM
3.
New Mexico state representative Ben Rios has asked his governor to give a pardon who what man, also known as William Bonney, who killed three policemen in 1880 and 1881?

ANSWER: BILLY THE KID (accepted William Bonney before his name is said)

4.
Her father, Calchis, defected to the Greeks from the Trojans, and when she met the Greek warrior Diomedes, she too defected. Who is this woman who deserted her Trojan lover Troilus in the process, the subject of stories by Chaucer and Shakespeare?

ANSWER: CRESIDA or CRISEYDE
First period (continued)

5.
Who is the legendary king of Egypt that unified Upper and Lower Egypt, becoming the first pharaoh of the First Dynasty?

ANSWER: MENES
6.
Nepal is one of the two nations located in the Himalayas between China and India. What is the other nation, smaller than Nepal?

ANSWER: BHUTAN
7.
A nameless man sets off in the Klondike winter, alone, trying to travel a great distance. Even his dog is able to sense the folly of the journey, and his fate is sealed when, after he gets his feet wet, he is unable to build a fire that might save his life. What is this short story by Jack London?

ANSWER: TO BUILD A FIRE
8.
What of Leonardo da Vinci’s works was composed of a wall in the church of Santa Maria della Grazie in Milan, and had 13 figures in it, although the Bible does not give an exact attendance list?

ANSWER: THE LAST SUPPER
9.
This compound, made by the chlorination of methane, is a good solvent for waxes, lacquers and rubbers. What is this compound, also called tetrachloromethane, which has the formula CCl4?

ANSWER: CARBON TETRACHLORIDE (prompt on an early buzz of tetrachloromethane)

10.
THIS IS A COMPUTATION QUESTION. What is the area of a right triangle with a height of 4 and a base of 8?

ANSWER: 16
11.
A woman who flew from the Democratic Republic of the Congo to New York to Toronto only had a low-grade malaria, instead of what deadly hemorrhagic fever which kills within days and periodically breaks out in Central Africa?

ANSWER: EBOLA 

First period (continued)

12.
What theory, the basis of most new work in modern physics, states that electromagnetic radiation does not always consist of continuous waves and must be viewed under some circumstances as a collection of particle-like photons?

ANSWER: QUANTUM
13.
THIS IS A COMPUTATION QUESTION. What is the midpoint of the line segment running between (-5, 2) and (2, -3)?

ANSWER: (-1 ½, -1/2)

14.
What is the British equivalent of the Secretary of the Treasury?

ANSWER: CHANCELLOR OF THE EXCHEQUER
15.
The Tenth Muse Lately Sprung Up In America was the first work of what colonial poet?

ANSWER: Anne BRADSTREET
Second period: 10 directed questions

Read the questions marked with “A” to the team that selected question set A and the questions marked with “B” to the team that selected question set B.
1A.
THIS IS A COMPUTATION QUESTION. What is the definite integral of y = 2x between 1 and 3?

ANSWER: 8 (integral of 2x is x squared, so x squared at 3 is 9, and x squared at 1 is 1. 9 – 1 = 8)

1B.
What term is given to a pair where the alleles are different, such as big T and little t?

ANSWER: HETEROZYGOUS
2A.
Whose 1860 attempted peace solution would have restored slavery in territories south of the Missouri Compromise line of 36 degrees, 30 seconds?

ANSWER: John J. CRITTENDEN

2B.
Who wrote the poem ‘Elegy Written in a Country Churchyard?’

ANSWER: Thomas GRAY
3A.
With what woman is the name Abelard associated?

ANSWER: HELOISE
3B.
Jesus predicted, correctly, that what disciple would deny Him three times before the cock crowed in the morning?

ANSWER: PETER
4A.
What German composer’s compositions, instead of having Opus numbers, have Kochel (KOE-shel) numbers?

ANSWER: Wolfgang Amadeus MOZART
4B.
What term is used to describe someone who possess many traditionally masculine as well as many traditionally feminine personality traits?

ANSWER: ANDROGYNY or ANDROGYNOUS
Second period (continued)

5A.
What prefix is used to denote 10 to the negative 18th power?

ANSWER: ATTO
5B.
What is the union of the sets {A, B, D, G, I}, {C, D, G, K} and {M, D, C, L}?

ANSWER: {A, B, C, D, G, I, K, L, M}
6A.
THIS IS A COMPUTATION QUESTION. What is the value of x in the equation 3x + 2 equals 5x - 1 for x?

ANSWER: THREE HALVES
6B.
What name is given to the semi-solid mixture of organic and inorganic materials that settles out of wastewater at a sewage treatment plant?

ANSWER: SLUDGE
7A.
Augusto Pinochet became military dictator of Chile after overthrowing what Marxist leader?

ANSWER: Salvador ALLENDE 

7B.
Who wrote the novel The Unbearable Lightness of Being?

ANSWER: Milan KUNDERA
8A.
Who wrote the play Sweet Bird of Youth?

ANSWER: Tennessee WILLIAMS
8B.
She plays Hayley Santos on All My Children. Who is this woman that is replacing Kathy Lee Gifford as Regis Philbin’s partner on Live with Regis?

ANSWER: Kelly RIPA
9A.
Rembrandt is known for a painting of the feast of what man who was the last Babylonian king?

ANSWER: BELSHAZZAR

Second period (continued)

9B.
What name was given by Henry Clay to the system of the protective tariffs and the internal improvements he wanted to establish to expand the domestic market and lessen the US dependence on overseas sources?

ANSWER: AMERICAN SYSTEM

10A.
What name is given to the large glasslands with scattered trees that are found in central South America and central and southern Africa?

ANSWER: SAVANNA

10B.
THIS IS A COMPUTATION QUESTION. For what angle between 0 and PI are the arcsine and arccosine equal?

ANSWER: PI / 4 (45 degrees)

Third period: 15 toss-ups 

1.
Who is the Norse goddess of love and fertility whose chariot was drawn by cats?

ANSWER: FREYJA (don’t accepted Frigga)

2.
After the Daughters of the American Revolution denied her the use of their Constitution Hall due to her race, Eleanor Roosevelt permitted what contralto to perform on the steps of the Lincoln Memorial on federal property?

ANSWER: Marion ANDERSON

3.
THIS IS A COMPUTATION QUESTION. An NFL team has a total season attendance of 600,000. Attendance goes up 5% in the next season. Remembering there are eight games in a season, what was the average attendance per game in the next season?

ANSWER: 78,750 (75,000 attendance per game, 5% increase is 3,750)

4.
What name is given to the process of heating rubber and mixing other materials to improve its properties?

ANSWER: VULCANIZATION
5.
What five-word adjective starting with V taken from the Latin for spiritless, spoiled or flat means lacking life and spirit, unanimated, flavorless, flat or dull, as in a conversation or personality?

ANSWER: VAPID
6.
The Zoo Story was written by what American playwright?

ANSWER: Edward ALBEE
7.
What is the name of the belt extending 9 degrees on either side of the ecliptic, the sun’s apparently path through the heavens, and which contains 12 constellations?

ANSWER: ZODIAC
Third period (continued)

8.
THIS IS A COMPUTATION QUESTION. What is the product of the binomials 3x plus 5 and x minus 2?

ANSWER: THREE X SQUARED MINUS X MINUS 10
9.
After being exiled from Massachusetts in 1635, what man bought land around the present area of Providence from the Native Americans and established the colony of Rhode Island?

ANSWER: Roger WILLIAMS
10.
Who was the Greek philosopher who sought fulfillment in the simple pleasures of life?

ANSWER: EPICURUS
11.
What term is to the automated analysis of data in a database or data warehouse, a practice usually associated with marketers picking, for example, all customers who fit a certain characteristic and sending them information and advertising appropriate for their age, situation and buying habits?

ANSWER: DATA MINING
12.
Between 711 and 1492, parts of Spain were ruled by Moslems from Africa who went under what collective name?

ANSWER: MOORS

13.
That’s the Way and Bye Bye are two more recent singles by what singer of Heads Carolina, Tails California?

ANSWER: Jo Dee MESSINA

14.
What is the error with the following sentence? Every one of the cookies are stolen!

ANSWER: REPLACE ARE WITH IS
Third period (continued)

15.
What term is given to the large snowfalls that hit areas to the east and south of the Great Lakes in December and January, due to the storms picking up large amounts of water while passing over the lakes?

ANSWER: LAKE EFFECT
Spares
What nine word adjective taken from Latin means inclined to war or contention, warlike, or pugnacious?

ANSWER: BELLICOSE
Peter III was tsar of Russia for six months, following his mother Elizabeth and before his wife, who was what most famous of Russian tsarinas?

ANSWER: CATHARINE the Great

What organ has at its two ends the pyloric sphincter and the cardiac sphincter, which go into the duodenum and the esophagus respectively?

ANSWER: STOMACH
What Wagner opera is the last of the Ring cycle, and is a German word meaning Twilight of the Gods?

ANSWER: GOTTERDAMMERUNG (gawt-ter-DEMM-er-unk)

THIS IS A COMPUTATION QUESTION. A shopper has $100 to buy. She buys a $50 sweater at 40% off and a $30 blouse at 60% off. How much does she have left?

ANSWER: $58 ($30 for the sweater, $12 for the blouse leaves $58)

All questions © 2001 by Shawn Pickrell. Unauthorized use, as described on the first page of this document, is prohibited.

